
SAP ABAP table TXI_TKKAK {Calculate Capitalization Value of Capital Investment Measu}

TXI_TKKAK

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VERSA [CHAR (3)]

ABGSL [CHAR (6)]

T000

MANDT [CLNT (3)] TXI_TKKAK-MANDT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 TXI_TKKAK-BUKRS = T001-BUKRS 
0..N

1

TKKAA

MANDT [CLNT (3)]

ABGSL [CHAR (6)]

 TXI_TKKAK-ABGSL = TKKAA-ABGSL 

0..N

1

TKKAL

MANDT [CLNT (3)]

AFAPL [CHAR (4)]

VERSA [CHAR (3)]

 TXI_TKKAK-VERSA = TKKAL-VERSA 

0..N

1


